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Sa(3) Mg )
(4Y - A nnglib “data Whenever necessary.
5) Use of scientific calculhtor CASIO fx-8283, fx—lﬂﬂ or
Lqmwmmu 01 “prner Companies 1s alfowed: ~ =7 7%
= 1 (a) Answer the following in bref - 10
Ta =) {i) State theﬁmctwndfollomg 8085 pins
< (a) Ready (b) HOLD
UPR.L{} Gi) What is bus contention ? How to avoid it ?
43 i) Show the control—signal (IOR, IOW, MEMW.~
g MEMR) geretion USINE 74138 decoder from the
-Ia.w control sngnals available from 8085 chip. :
Gv) Explain in brief BSR mnde of operation of 8253 =)
'IJR chip.

I——mmm (v) State important features of 8279 chip.
(b) Wit1 the neat diagram show the demulti-plexing of

AD, - AD; lines wsing 74.373 latch. Explain the

| &n

' worang. Ra——
_*
=LV, (¢) Ezplain the flay reg‘un,er of 8085. Siate importance B
;m]'f, of each flag bit. Which instruction uses auxiliary carry
- ﬂag ?
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2 (a) Assume that the accumulator contains daia byte 6
' 82 H and the instruction MOV C,A (opcode — 4FH)
is fetched by microprocessor from the memory. Using
the neat diagram explain the steps in decoding and
executing the instruction by 8085 hardwa-e.
i (b)  Design ’ :
i I/n interfacing to interface a I/o mapped common anode f‘“
seven segment LED display using latch 74373 at address
IFSH. Use absolute decoding with 74138 decodor a four
input NAND gate and a NOR gate. Assune control ¥
signals are available. Write a program to display digit __/
“T" on output port. t8 ;
{¢) Draw and explain power ON reset circuit for ——— g
2 8085 microprocessor. D"!'/' 3
OR 43 Fer
2 (a) You are given 2732 EPROM chips. How a.roui?i you 8
= construct a 32 k Byte EPROM hoard whch can be A0
i interfaced with 8085. The starting address is 0000H.
' Show all necessary interfacing connections a 1d memory =
map. Assume control signals are available.
= o () TInterface DAC 0809 to 8085 microprocesso® using i i
G 8255 znd latch 74373. Assume suitable address the .
5 (ot O\F latch is-enabled by pin pB, of 8255 and PORT A is fc 'Y P13
o L used to output data. Write a program to generate a
i square wave with 50% duty cycle using this schefie.

& Adtempt any three : : 2
Py (a) Interface 8255 to 8085 using memory mapped I/o with
control register address 8003H. Show address of all . e
PORTS of 8255. Connect eight common ano ie LEDs to Fa
Ay Ay PORT A and four common anode LEDs t« PORTCy™  Peyu
4 Connect Eight DIP switches to PORTB ani four DIP P
0o o switches to PORTC, . Write a program to configure 8255
i mode 0 and to read DIP serches and ‘lisplay the 3
reading from PORT B at PORT A and fron PORTC;, tan
at PORTCy | ST =

\_‘ (b) Wliat is matrix keyboard ? Why it is requied ? Show
ol the interfacing of 20 key matrix keyboard udng PORT B _
\ and C o: K255, Also explain 1ow_to identify the key by

?f \ @ ‘scanning the keyboard, What is disadvantage of this ﬁ‘j :
G 5

method ? 3

Explain mode 1 (monostable multivibrator and P
mode 3 (Astable multivibrator.) operation of 8254, 3 A
Interface 8254 chip having control register address feu

83 H to 8085 microprocessir. Write a program to d
generate a 1 kllz square wave from counter 1. Assume
clock input is 2 mHz and GATE is connected to + 5V. ‘ﬁ;
Je)  Draw the internal block diagram of 8279 :nd explain ;
1ts working. | oo &
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Instructions :

(1)
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Mame of the Exam
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"B.E‘aalsamﬂ[ﬁcmc] |

Name of the Subjed :
-'1 Microprocesiswl Programming & Interfacing l

- Subjoct Coda No. o-Section No. (1, Zis) ;E] Student's Signature

Vig (2) Figures 10 the night indicate full marks.

| ep) (3) Atterapt all questions.

(4) Assume suitable data whenever necessary.

(5) Use of scientific calculator CASIO fx-82183, fx-100 or
equivalent of other companies is allowed.

4 @ Answartheﬁilnwingquestions: 12
1) lnadthshitpaMmQIHinmg.BandS?Hin
Eeg.ﬂﬂaskaﬂthebitsemtﬂo&mﬂeg,

i) B and Reg. €. If Do is at Jogic-1 in both reg, tuin

: on the light connacted to the Do position af alp p2rt i P

Ser o], Otherwise e off the Light.

LED aN (z) Explain the mathematical function - that 18 .
performed by the following instructions - Hog & Oy
MVI A, 07 H A =07 fs3% Por
RLC i ?E @ ~0% Moo
MOV B, A %
RLC :
RLGC
ADD B.

3 What is stack 7 What 18 stack pointer 7
How long INTR pulse stayhigh 7 1%.9 1
{5) Listoui edge trigger interrupt. Explain it in'brief.
FTA e (—B) Write prog to enable all interrupt.
b AR l?ga\s_r_a_!;;l explain timing diagram for instruction |
'I/‘ B"T] _I_]_‘_'__'_'_'_’ I',. R e L
(© Extlain the following instructions with example and 3
Ay stove YL RuT Digect: all Nag contents VO blery cubyected,
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5 Attempt any two : 14
(1, Write the bit patterns to set the interrupts and to 7
ser=2 the pending interrupts. Explain it with example.
(2)  Explaiu the role of priority encoder in in errupt with
example,
Write a prog. to implement a break poin: facilicy at 7
RST 5 for user. When interrupt to ileir iisplay the
accumulator content and flags when HEX key 'C' is
pressed. Exit the break point routine ani continue
execution when the zero key_is pressed:
Assume that when a keyboard routine is called it
returns the binary key code of the key preised in the
accumulator, ' :

|
6 Attempt any two : 16
(1) Write assembly language prog to convert ii-bit binary 8
to Gray code. Also write the algorithm for the same,
Ten such numbers are stored in memory
(2)  Write short note on DMA and DMA contriller 8
IC 8257 !nterfacing. 2 E
(3) 10 Hex no. are stored at location starting f om D500H. &
Convert that in BCD and store that at locat on starting
from DGONH.

_— P uUsH P
puUsH B
posH P . e = 7

pusH H
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